Q.P. Code : 04845

[Time: 3 Hours] [ Marks:100]

Please check whether you have got the right question paper.

N.B: 1. All questions are compulsory.
2. All questions have internal choice.
3. Draw neat diagrams wherever necessary.
4. Use of simple calculator is permitted.
5. Figures to the right indicate full marks.
1. (A) Select the best answer from the given options and rewrite the statement. Any Ten. 10
(i)  Perfectly competitive firms are described as
(a) price makers (b) price takers
(c) price producers (d) price givers

(ii)  The zero profit point will occur where

(@) MC=P (b) MC =MU
(c) AC=P (d) MR = MP
(iii)  Under imperfect competition producers face demand curve for their products.
(a) a horizontal (b) an upward sloping
(c) adownward sloping (d) a vertical

(iv)  Cartels are
(a) organization of independent firms, producing similar products, that work
together to raise prices and restrict output
(b) usually illegal
(c) oligopolies
(d) all of the above

(v) A monopolistically competitive firm earns supernormal profits in the short run

because of
(a) product differentiation (b) free entry and exit of firms
(c) perfect knowledge (d) interdependent decision making

(vi) A firmin monopolistic competition
(a) considers reactions of rival firms (b) colludes with others
(c) has market sharing agreements (d) decides its own price.

(vii) *. Marginal cost pricing can be adopted by
(a) a private monopoly firm (b) a public sector monopoly
(c) both (a) and (b) (d) none of the above

[Turn Over]

FD36E319242C3A C6C8390B2D5228BBFF



Q.P. Code : 04845

2
(viii)  Transfer pricing has gained significant importance with the growth of
(a) multinationals (b) less developed countries
(c) mergers (d) none of the above
(ix) is an advantage of mark-up pricing.
(a) cost recovery (b) assured profit
(c) bothaandb (d) none of the above

(x) Capital expenditure decisions are irreversible because
(a) of absence of second hand markets
(b) fluctuation in rate of interest
(c) profit of capital assets is difficult to estimate
(d) none of the above

(xi) Payback period method focusses on 2
(a) rate of profit (b) rate of interest
(c) innovation (d) none of the above

(xii) A project is profitable if its NPV is .

(a) positive (b)-negative
(c) zero (d) all of the above
1. (B) State whether the following statements are True or False. Any Ten 10

(i)  Under perfect competition goods are homogeneous.

(ii) A monopolist is in equilibrium at that level of output where MC = MR.

(iii)  Under monopoly AR and MR curves are identical and horizontal straight lines.

(iv) A monopolistically competitive firm produces with excess capacity.

(v) Under monopolistic competition goods have no close substitutes.

(vi) ~ A cartel operates on the basis of an agreement on price and output among

producers.

(vii) ~ Public sector units often charge prices equal to their marginal cost.
(viii)  Price discrimination is always possible and profitable.

(ix)  Cost plus pricingis also known as mark-up pricing.

(x) ~ Payback period method favours long term projects.

(xi)  According to the IRR method a project is accepted if IRR> market rate of interest
(xii) ~ NPV is based on the principle of discounting.

2. Attempt A and BOR Cand D
(A) Discuss the features of perfect competition. 8
(B)  Explain equilibrium of a firm in monopoly in the long run. 7
OR
(C) Define monopoly. Explain the sources of monopoly power. 8
(D) Read the following paragraph and answer the questions below: 7

There are many farmers who grow basmati rice in India. No single farmer is large enough to
influence the price of basmati rice in the market. The quality of basmati rice is fairly
homogeneous. Farmers are free to decide whether they want to produce basmati rice or
any other crop.
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(i)  Name the market structure being described in the paragraph above.
(ii)  Examine the characteristic features of the market identified by you in question(i)

Attempt Aand BORCand D

(A) Examine the equilibrium of a firm in monopolistic competition in the short run. 8

(B) Explain the kinked demand curve model. 7
OR

(C) Discuss the various forms of product differentiation and its effects on the demand curve. 8

(D) Read the following paragraph and answer the questions below: 7

A car manufacturer is aware of his rivalry with other few car manufacturers in the market.
Like the other car manufacturers he undertakes vigorous advertising campaigns to
convince potential buyers of the superior quality and style of his cars. He reacts very
quickly to claims of superiority by rivals. But he avoids cutting price as that would finally
lead to losses for all concerned.

i)  Name the market structure being described in the paragraph above.

ii)  Describe the characteristic features of the market identified by you in question (i)

Attempt Aand BOR Cand D

(A) Discuss the conditions under which price discrimination is possible. 8
(B) Explain the multiple product pricing method. 7
OR
(C) Examine marginal cost pricing as a pricing method for public sector firms. Explain using a 8
diagram.
(D) (i) Explain the merits and demerits of full cost pricing. 7

(ii) Assuminga desired mark-up of 15%, if average variable cost is T 55/- and the average
fixed cost is T 15/-, calculate the full cost price of product C of firm Cracker.

Attempt Aand BOR Cand D

(A) Explain the meaning and significance of capital budgeting. 8
(B) Examine the Net Present Value method of project evaluation. 7
OR
(C) Discuss the Internal Rate of Return (IRR) method of investment appraisal. 8
(D) The following table shows four projects with their initial investments and annual cash 7
inflows. Calculate the payback period for each project and rank them.
Project Initial investment(<) Annual cash inflow(¥)

A 1,20,000 30,000

B 80,000 16,000

C 60,000 30,000

D 40,000 40,000
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Attempt A and B OR Write short notes on any four:-
Analyze short run equilibrium of firms under perfect competition with
differential costs.
Discuss in detail the arguments for and against advertising.
OR
Write short notes :Any Four
(i)  Shut-down point
(ii)  Excess capacity
(iii)  Cartels
(iv)  Degrees of price discrimination
(v)  Transfer pricing
(vi)  Steps in capital budgeting
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(9) @refiet fIem oo st SRk @ | (HIvaEl gg1): %0
(i) U1 THEq T TehsiRl STHAT.
(i) HFdCRET THAIA 3T IedTe rdSiett aidl {5 f&mia @=i( MC) &t
fomma gt (MR) SR 37l
(iii) Terderdiel Tl 3T femTa wifed ok TehHRE 3T 3MEeAT HHIA
[T 3 TEYTE AT,
(iv) Terdeger Tusicreh e TeAT Afdiie IcaTe SHAdAT SedTe ST,
(v) WerdeIgad Tagd ST Jsiieha g o,
(vi) e TH IcqrchEied fehta ST IeareaT=aT STedidicel U=l
TSR AT AT,
(vii) TTeITeh ST STTTEET §=3Te 3A%f 3Maean fhudl wr=ar &
TS T SAIMIHR ThRA FHAT,
(viii) e fardie St wrerr anifor enverereh e
(ix) @9 Afeep T fobra faftonen 9 319 (mark up) fpaa fefor s@
cRaet rged 9Td.
(x) AT Sraadt Ugd fCdwreaTdia YehedHT STqeha 75d.
(xi) ST TATAT G IgalgHR SR TehedT= faid warel gt (IRR)
ST SATSIEUUET STEd 3T a1 Jehed (Hagal S,
(xii) T Idu e ae@vit (Discounts )dcdTal ATIRA TR,

2. S AAASAT T IT(UT ok AT S T YT 3T foTal.
(31) ot Tug=h SfErsed Tose . ¢
(¥) Hededid e federrel THde s &Y. 9
feren
() HFdeRI=N <Irea forar. Aerder] Y=l EId T . ¢

(3) Wield A/ e e feeiean Jer=l S feaan.
AT 3ok 318 Ydehll 3Tad o STHHAT dicesl™ 3cdTe shidTd. ShivdTal Teh Sidehll Scehl
HIST T8l <l ST STHHd digesreal Rt THTE UTg Ihdl. STEHd! dIces=l &l q@id
T THIOTG Uehsi 19311 3718, a1 STHAd! dieea 3cqTe e shl 3t fUehi=l ITaTeld
T AR,
2) e AT 9UH Sheled IR T |19 9.
R)  ufgen TAME (2) T STeEcied SISt i aiefor .

3. 37 I & ST ok AT S AT YA I T8
(37) TSI Tadidie ITMTHTAAT AeUhTe Heira TR . ¢
(&) sTeReR (farep=ia) ATTUR o5k TfHTHTE TISIhTUT . 9
e

(%) aEqiy=aea fafay yerih ==t 0. oo e awef ashafie afom s . ¢
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(3) WIeid A/ M ArEre faiean St 3t forat. 0
T 3CUTET HUT=AT Uehl IcATEehTH STSTRId 3T R 3cdTe HIUM=HT hial 3Ted 3cdiceh
Tfceei=l Joffe 318, 3 R IcqTeT HLMTT IACHITATE T c@idd STUcAThe A
AT I Gl AT IS I FEd o TTEhHT [IeaTHTd SUATehiRal Hig= SHIUIG STERId
T THR 3UsHH BTd] Hal a1 ATl Tfaeqea =T 3= gafl T4ee ShivaT=aT il caiid JidEre
<. 9iq_fohma it oA a1 2Tesdl SR Te Hefiai wrET 91l 81 Iehdl.

%) A AT TS hot=Al SR T&-< A1 |
R) Ul TAme (%) TR STa@aed S
3fsrsest famre .

. 37 AT § YT % MV T AT YT Sead feraT.

(37) wivren feurdta geafave srer grar A= ==t w4 ¢
(§) wgaeq fehma faRor qegtie Tasdiehto 4. o
e
(%) fowra @< fohma fufor € gt Serda sam genaesE fhag fHufor veea wrE

= seRdiean Smem Wi .
(8) ) Yo @d fohaw fgime 1o 9 g T .
R) SENTEEIT 24% Tk HISh 310 TEId Ul TR, TEH! Seoidl T T Yy 3TM8 37T
TUEd fR T T 94 TR T et AT STFEEAAT “ C AT TEAT IedreAre gl

Td fhua s
37 IT(OT & ST o AT S AT Y= IR fora.
(31) vTSaoll e qehren 7Y 3T Hacd Ta5e . ¢
(§) ehed HeaTohaTedl fHede aduT oo qeai= aiequ . 0
e
(%) TAAEh HedTehTeal i Tarel e Uegdi=l J= . ¢
(3) wWrellet HIseehid JeheuTel GeaTdi= aeueh M a1fies Uehe Jarg femtt 3R wed o
Jehe Tl UATET ShIcATaE Shi@l SO =il shH oITal.
Tehed FeATd ! Taaveh TN Ushg JaTE (T)
A 20000 30000
B (0000 2§o000
C g§0000 30000
D ¥0000 ¥0000
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